/’ DITTA RIF. DENOMINAZIONE
‘/ K-789 C
comer industries DATA CODICE
gearboxes 08-06-2005 789.405.10
e/ 4 ) 6 /7 35
3 -
]
o
1 N
TN
A \II\ I J\\V [\
39 >
: r—ta_ |
40 i
| |
- A b
/1 I \: rl
| |
@:@—_ _ _ _ ~ - 1 _/_7@'?_
| \l/ I
/|
B 77 7 g
|
|
Ny ﬁ« 5
777777, }
- |
|
| |
|
|
|
|
219 10 34 9 |
|
|
|
|
|
|
|

SdM

' 11.10125

COMER INDUSTRIES Sp.A. 42046 Villanova di Reggiolo (RED Italia Tel. 0522\974111 (9 Linee) Telefox 0522\973249




DENOMINAZIONE SCATOLA INGRANAGGI K-789C CODICE 9.789.405.10
POS. N° DISEGNO PEZZI DESCRIZIONE
1 0.789.0302.00 1 SCATOLA PRINCIPALE
2 0.792.6000.00 1 CORONA CONICA zZ72 M3.55
3 0.791.7001.00 8 VITE TCEI UNI 5931 M10x16 8.8 DRILOC
4 8.0.1.00173 1 CUSC. SFERE CLB 6310
5 8.5.2.00916 1 ANELLO EL.SIC.X FOR 110UNI7437
6 0.712.7525.00 1 SPES.REG. 70.3x50.3x2.5
7 8.4.1.01157 1 LINGUETTA UNI6604 B 10X8X50
8 0.712.7500.00 1 SPES.REG. 50.3x70.3
9 8.5.1.01084 3 ANEL.SIC.XALB.H=3 50 UNI7436
10 8.4.1.01048 1 LINGUETTA UNI6604 B 10X8X35
11 0.789.1303.00 1 COPERCHIO SUPERIORE
12 8.0.0.00632 1 ASTUCCI RUL.HK216V 20X26X16
13 8.8.1.00675 1 INGRASS A SF.DIR. M10X1,5
14 0.259.7500.00 2 SPES.REG. 35.3x48.0
15 0.789.7101.00 1 SPESSORE MYLAR 49X71,7X0,2
16 8.0.1.00870 1 CUSC. SFERE CLB 6207
17 8.7.3.00055 1 ANEL.TEN.NORM. BA 35X72X10
18 0.792.5000.00 1 ALBERO-PIGNONE Z10 M3.55
19 8.5.1.00005 1 ANELLO EL.SIC.X ALB 35 UNI7435
20 8.5.2.00131 1 ANELLO EL.SIC.X FOR 72 UNI7437
21 0.789.7005.00 6 VITE TE UNI 5739 M10x25 8.8 DRILOC
22 0.789.7104.00 1 SPESSORE MYLAR 71X109, 7X0, 2
23 0.791.0702.00 1 CAMMA BONIFICATA CON FORO
24 0.789.1302.00 1 COPERCHIO INFERIORE
25 8.7.1.01097 1 AN.TEN.LAB.PAR.BASL 50X72X8
26 0.791.3704.00 1 ALBERO CENTRALE
27 0.124.7101.00 1 TARGHETTA "COMER"
28 8.6.5.00203 1 TAPPO CON.ESAG.EST. 1/2"GAS
29 2.791.7110.00 8 BIELLA
30 0.789.7144.00 8 DISTANZIALE 35.3x43.5x9
31 8.7.3.01239 8 ANEL.TEN.NORM. BA 35X45X7
32 8.6.5.00006 1 TAPPO CON.ESAG.EST. 3/8"GAS
33 8.8.7.00436 0,14 GRASSO SHELL RETINAX WB2 fusto da Kg.180
34 8.0.1.00601 1 CUSC. SFERE CLB 6210
35 8.3.8.00336 2 ROS.FER.GHIERA50x74x1.25C40BON
36 8.2.5.00176 2 GHIERA DI SERR.Zn M50X1,5 HI1
37 0.792.7510.00 16 SPES.RE 35.2x43.8x1
38 0.177.7505.00 1 SPESS.REG 50.2x57.5x0.5
39 2.791.7123.00 1 LAMIERINO+DADO
40 0.791.7000.00 1 VITE TCEI UNI 5931 M8x22 8.8 DRILOC




	978940510S.cleaned
	978940510S

